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Run 4490 mpswise, accO: All

Enilries: T30013

Mear: 80897 /- 0.0401

Sid Dev: 34,3185 +- 0u0204
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Run 4490 mpswise, acc0: Beam ON, Laser ON
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Enitries:; 107542

Mean: 15.7141 &/- 00020

Sbd Dev: DUGEAS +~ D004

Enitries: 1075&4

Mean: 157521 /- 00020

Std Deey: DLBSOE - 000714
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Run 4490 mpswise, accO: Beam OFF
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Run 4490 mpswise, acc0: Beam ON, Laser OFF
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AccO/NAccO

AccO/NAccD

Run 4480 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF Run 44390 mpswise, AccO/NAccO:mpsCoda, beam OFF

700 — % 700 —
[ = [
— = —
600 — E 600 —
500 — 500 —
400 {— 400 {—
300 — 300 —
200 {— 200 {—
100 — 100
.D‘-_-ﬂ-i'l_ﬂ-ﬂ_Pr"l_H-ﬂ'.‘l-‘H-ﬂ"l-H-H_H-l||||||||||||||||||||:~z'|ﬂa D_|||||||||'I||||I|||||||||||||||||||||x‘|ﬂa
0 100 200 300 400 500 600 700 0 100 200 300 400 500 600 700
mpsCoda mpsCoda
Run 4490 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON Run 4490 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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